Division par Puissances de Dix (B)

Trouvez chaque quotient.

8,03 +10= 56 +10=

4,09 - 10 = 4,88 +1=
1,0803 = 0,01 = 7,6339 = 0,01 =
2,11 +-1000 = 4,02+ 100 =
7,415 + 0,01 = 6,3+ 100 =
1,332 + 100 = 8,633 + 10 =
2,8385 + 0,001 = 7,8396 -1 =
2,589 + 0,01 = 8,833 +1000 =
8,2+ 10= 48 +0,1=
3,23+ 0,001 = 4,07 - 0,01 =
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Division par Puissances de Dix (B) Solutions

Trouvez chaque quotient.

8,03 +10=0,803 56 +10=0,56

4,09 +-10=10,409 488 -1 =4,88

1,0803 +- 0,01 = 108,03 7,6339 - 0,01 =763,39
2,11 +1000=0,00211 4,02 + 100 =0,0402
7,415+ 0,01 = 741,5 6,3 +100=0,063

1,332 +100=0,01332 8,633 +~10=0,8633
2,8385 + 0,001 =2838,5 7,8396 -1 =17,8396
2,589 + 0,01 = 258,9 8,833 +1000=0,008833
8,2+10=0,82 48 +0,1=48

3,23 + 0,001 =3 230 4,07 + 0,01 =407
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